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ONE WAY ALCOHOL CAUSES CANCER

ETHANOL (ALCOHOL)

ADH is an enzyme
that converts ethanol
into acetaldehyde

IFASMALLAMOUNT
OF ALCOHOL

IS DRUNK...

The body can
process it, so that
it passes through
without doing
much damage

ALDH is an enzyme that
converts acetaldehyde
into acetate

People with mistakes in

the genetic code of ALDH
can't break acetaldehyde

down - they are more

prone to certain cancers.

Mistakes in ALDH are
commaon among
Asian populations
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IN SIDE CEu_

IF A LARGE AMOUNT
OF ALCOHOL

IS DRUNK...

The body can't
process it fast enough,
so there's a build-up
of acetaldehyde. This
is toxic and causes
DNA damage

ACETALDEHYDE

ACETALDEHYDE can cause:

' ‘ﬁ! Mistakes in DNA
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Chromosome
rearrangements
ACETATE =4 DNA to bind and
Energy that the ~4 form clumps
body can use &=
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